Y FiErEE 2 CHEEEEZHEMLELS (6 H5H)
{L=AWFZERT 2% AERR

tm— R B8 LT

LA I <

(R

TREEF ORI, BWHME
BYOW- I, ¥ A=y MR, AU THE

TRATNET IR
S8R D — 45l R RAR i

+
O-H + O-H

s

CH3-C” <> CHg—C
OH

CHy-C, ——

O-H
— [ CHy~C—OH ]

OH o CH4CHZ0F
] H 2 ( 3 33 H
CH4CH,0H 4
H +
C')_H - H,O + S—H O
——=| CHg=G—OH|—2— | CHy~C—OH == CHy—C M CH?
CH5CH,0 H,0 CHBCHZ@ OCH.CHs| ™ v OCH,CHj4

RY T AT )L
TR
CHy=C, CHy—C

8 - HoNCH,CH

NCH,CHj ® "OH 2¥-H2 s
H
9

VAR
TT= VATA
CH HS—CH
A Q a9

'/‘C—C—OH "C-C—OH
NH, NH,

TRATNET I NZEZED ? TIJBBT I RE2<5L?



